FREGEEZEIE RS R6

4R |58 |6RA |78 |(8RA |98 |10A|11A|128| 1A |28 | 3R H
ABU(N) 1 1 4 1 10
A% (H) 2 3 22 1 39
BE-AENS PRBRR. BEMER) F
- fifi R5 R6

4R |5H|6RA |78 (8RR |98 |10B|11A|12B| 1A |28 | 3R E
ANEU(N) 0 0 0 0 0 0 1 0 0 1
B#(A) 0 0 0 0 0 0 1 0 0 1
BRE-ABENE PR BEMER) -ERFNELS . BRRE F
-wiKET R5 R6

48 |5A|e6A| 7R | 8B |9A |108|11R8(12A[ 1A | 2R | 3R H
ANBU(N) 0 0 0 0 0 0
BA%(A) 0 0 0 0 0 0
BRE-AENE PR EEMER) . MELS #F
-BEE 2 R5 R6

4R |5H|6RA |78 (8RR |98 |10B|11RA|12B| 1A |28 | 3R E
AE(N) 0 0 0 0 0 0
A% (H) 0 0 0 0 0 0
BRE-ARENE PR MRERE. BEWMERDE
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